Example 3.

The height of a ball kicked on Earth can be modelled
On Mars the height is modelled by:(52 + 26t - 1.3t2
Find a formula for the difference in the height of th

compared to Earth.
Mars - Earth

(52 + 26t - 1.3t2§3(1§ + 35t - 4.9t2)
=018 -35L 14
52 +26t-1.3t2 - 18 - 35t + 4.9t

3571 20413y
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4.9t - 1.3t2 + 26t - 35t - 18 + 52

3.6t2 -9t + 34
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Phings you already know!! Things you need to know :)

4x5= —

@E=
4(5)= 6(z)= (k=

Why didn't | use this example??

(4)(m)= Hw)

® |
(-2) (-r)= +ar

4(-3v)= ~IN

#1)
PN
\ int:
#2) 4(@ -11 |l\_|/lulttiply each term in the

brackets by the term on

the outside of the brackets.

w 4(BW2 - 7p + 11)
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100r°+ 50m  pabporir” )
5 sum of fractions. gLOVQ’ 1 \bh'\
_ 100r*+ 50m

5 5 ow Divide each term ( N + IOQ
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100r?+ 50m  pobromial
to make a
5 sum of fractions.

~100r?+ 50m
5 5

Now Divide each term

5 = D3 ximms
(100r% + 50m - 65z) < (-5)
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